[image: image1.png]5.6-11 For afemale freshman in a health fitness program, let X equal her percentage of body
fat at the beginning of the program and let ¥ equal the change in her percentage of
body fat measured at the end of the program. Assume that X and Y have a bivariate
normal distribution with juy = 24.5, 07 = 4.8 = 23.04, j1, = —0.2, 0 = 3.0> = 9.0,
and p = —0.32. Find
(@) P(13<Y <58).

(b) fy|x, the conditional mean of Y, given X =
(c) n)z,‘x, the conditional variance of Y, given X = x.
(d) P(13<Y <58|X=18).





(The problem is from the Bivariate Normal Distribution. Please solve for each part. I am providing final answer from the textbook. Please see the below.)

(a) 0.2857

(b) μY│x = -0.2x + 4.7
(c) σ2Y│x = 8.0784

(d) 0.4230
